EARAROBREBRT —5 XN—ZXBISH—F 20221868 (A) 220R&E5H

mm%lf%ﬁ B8 USSR —f% ‘(fﬁ] B ‘[%EH%FEEH - | 5 1w B
[AXE%€]) 1%&:360,00F ~ 2&:115,000H  3#&:6500M  4&:43,000H  53&:29,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o A3 _E 5l :32. -1-1- . - Bt (BEE)
1l [Pz re—Fwn ts 1 BS e S B e P2 e
RiFVyvB/FE+ B:yI9-—Z+v =i e
» = KI5 E 29, -4-3- . - SEfEe (BEE)
2 4 | AHTFSITFPN— SRy 1(332)7 A2 96 ! (‘f:) ST=003—8
RiNA40 B:9«04F00UF AR P EKE
=~ 1 6 | BlEEE 1:32.8 5-7-5-5 |39.3| -— 5 489 | BRI (BEE)
E] 2 R ’ %.0 7) Gy | @ I Revay
Ri—5—IvF B:RLyY7 THES
15 ft 5 | SHEKX 1:32.9 7-5-4-4 |39.7| - 3 466 | TR (REB)
4)5|5|PE=F .0 ) Ly |EHE
R:O—IVIUY B:EFZT4— Hp &Hx
~ ) P =T 1:33. 6-6-6-6 | 39.5| — 7 | 466 |BEORK (BEE)
RIFVIARZA S B:HSIFTAVPEVR AU
= NOEER— :33. -2-2- . - SEfEe (BEE)
6177 |DILRS %) ! (3433 ? s 4 ) (4+332) et
R:AWTz—I)N B:U=5-Y (B) 81— RL—YavEET 7
4 5 | XEEKX 1:36.2 8-8-8-7 |40.7| — 6 482 | ROFEE (BEE)
7B 3| A/—FO0— 252.0 (544 () | ANLzEE
RiPAINTTFH— B:XAXF—Fv—R EvIUy RT7—LA
s < BAMEE : -3-7- - BHES (B4R
8|8|8|AYUITILRAZ b R I Gy | 7P ’ (‘_1??) TS
R:ISADVS— H:00-RN\N—F=— EAHERIY R
@ 11— —BBIEfI
13—3F— 1,8,4,7,2,6,5,3
20—7F— 1.7,8,4,5,6,2,3
30—7— 1,7,4,5,2,6,8,3
43—F— 1,4,7,5,2,6,3,8
o ILRE
B B 1 270 JA R 1-4 180H B E 1-4 310H 3EE 1-2-4 840M4
7B B 1 110 1-2 330 =51 1-4 710 3EH 1-4-2 2,640
4 110 2-4 290
2 190

ABIC OV TRUTEREERRODDZE. THRIIZEL.



